Stat 103 - Spring 2014


Quiz 1
Solutions
Name__________________________

The questions below all relate to basic statistical analysis performed on univariate (single variable) data typically encountered in an introductory statistics course. You can answer on the quiz itself.
1.  For each of the following write (1) if the data is considered qualitative, (2) if the data is considered discrete, and (3) if the data is considered continuous.

a. __3___ The surface temperature at the center of a lake.

b. __1___ The make of a car, e.g., a Honda Civic.

c. __3___ Yearly sales, in dollars, at a major corporation.

d. __2___ The number of female students in the class.

e. __2___ The number of audits that an auditor completes in a week.

2.  In statistical notation, s2 represents 

a. The standard deviation of a sample.

b. The variance of a sample.

c. The standard deviation of the population.

d. The variance of the population.

e. None of the above.

3.  Let X be a normally distributed random variable with mean  and standard deviation . Approximately what percentage of values x lie within the interval (?

Answer:   95 %
4.  Let 
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 be the sample mean of n values drawn from the distribution of the random variable X described in problem 3 above. For large samples, approximately what percentage of values 
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 lie within the interval 
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Answer:   95 %
5.  Let X be normally distributed with mean  and standard devoation , both unknown. A sample of size n = 4 is drawn from X. Which of the following forms the appropriate 90% confidence interval for 
a. 
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b. 
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c. 
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  where df = 3

d. 
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  where df = 3

e. None of the above.

6.  Suppose that the random variable X in problem #5 above is not known to be normally distributed. Which of the following forms the appropriate 90% confidence interval for 
a. 
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b. 
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c. 
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  where df = 3

d. 
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  where df = 3

e. None of the above.

7.  Let X be the (normally distributed) weight, in pounds, of full-term baby girls with unknown mean  and suppose that a particular sample of n full-term baby girls leads to the following 95% confidence interval for the true mean weight of all full-term baby girls: (6.28 pounds, 7.12 pounds). A 99% confidence interval, based upon the same sample, would be

a. Wider than the 95% interval.

b. Narrower than the 95% interval.

c. Could be either narrower or wider than the 95% interval.

d. The interval remains the same, but we have more confidence in the 99% interval.

e. None of the above.

8.  A hypothesis test of the claim is conducted at the 5% level of significance. The sample test statistic leads to a p-value of 0.039. We should conclude

a. Reject H0
b. Accept (fail to reject) H0
c. It depends on whether the claim  is part of H0 or HA
d. It depends upon whether the test is two-sided

e. None of the above

9.  A “parameter” is a descriptive measure of a population. What do we call a descriptive measure of a sample (Hint: we compute it from the values observed in the sample)?

________ Statistic_________ 

10.  Suppose that a hypothesis test using the p-value approach rejects the null hypothesis. What would be the result have been had the critical value approach been used to conduct the test?

a. We would always have rejected the null hypothesis.

b. The two approaches are only equivalent for one-tailed tests.

c. The two approaches are only equivalent for two-tailed tests.

d. We would have rejected the null hypothesis if p-value > /2.

e. None of the above.
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